Kasztanowy Park

osiedle mieszkaniowe inwestor:
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plansza: RZUT PIETRA 3

MIESZKANIE 2p nr 401 - 45.84 m?
pokéj dzienny + a.kuch. -25.02 m?
komunikacja - 5.80 m?

tazienka - 4.08 m?

pokdj 1 -10.94 m?

MIESZKANIE 2p nr 402 - 39.28 m?
pokdj dzienny + a.kuch. -22.10 m?
komunikacja - 3.17m?

tazienka - 4.10 m?

pokdj1 - 9.91 m?

MIESZKANIE 2p nr 403 - 32.14 m?
pokdj dzienny + a.kuch. -19.23 m?
komunikacja - 1.06 m?

tazienka - 3.92m?

pokdj 1 - 7.93 m?

MIESZKANIE 2p nr 404 - 44.76 m?
pokdj dzienny + a.kuch. -23.94 m?
komunikacja - 5.80 m?

tazienka - 4.08 m?

pokdj 1 -10.94 m?

MIESZKANIE 2p nr 405 - 45.90 m?
pokdj dzienny + a.kuch. -25.02 m?
komunikacja - 6.22m?

tazienka - 3.99 m?

pokdj 1 -10.67 m?

MIESZKANIE 2p nr 406 - 37.35m?
pokdj dzienny + a.kuch. -20.74 m?
komunikacja - 2.60 m?

tazienka - 4.10 m?

pokdj1 - 9.91 m?

MIESZKANIE 2p nr 407 -37.35m?
pokdj dzienny + a.kuch. -20.74 m?
komunikacja - 2.60 m?

tazienka - 4.10 m?

pokdj1 - 9.91 m?

MIESZKANIE 2p nr 408 - 45.90 m?
pokdj dzienny + a.kuch. -25.02 m?
komunikacja - 6.22m?

tazienka - 3.99 m?

pokdj 1 -10.67 m?

POWERZCHNIA MIESZKAN
LACINIE: 328.52 m?

ZESTAWIENIE MIESZKAN: 8
p2-8
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